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Important Instructions
for Multiple Choice Question (MCQ)

® Write Subject Name and Code, Registration number, Session and Roll
number in the space provided on the Answer Script.

Example : Such as for Paper III-A (MCQ) and III-B (Descriptive).
Subject Code : |IIl|A |& |B

Subject Name :

® Candidates are required to attempt all questions (MCQ). Below each
question, four alternatives are given [i.e. (A), (B), (C), (D)]. Only one
of these alternatives is “CORRECT” answer. The candidate has to write
the Correct Alternative [i.e. (A)/(B)/(C)/(D)] against each Question No.
in the Answer Script.

Example — If alternative A of 1 is correct, then write :
1. — A

® There is no negative marking for wrong answer.
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Paper Code : I - A
Full Marks : 16 Time : Thirty Minutes
Choose the correct answer.

Each question carries 1 mark.

1. The protein coat of virus is called —
(A) Capsomere
(B) Cosmid
(C) Chromophore
(D) Capsid
S | SIEAICE (b ST ol = —
(A) FACCRI
(B) i@
(O) (FIWIEE
(D) FiiFre
2. Viruses that infect bacteria, multiply and cause their lysis, are called —
(A) Lysozymes phage
(B) Lipolytic phage
(C) Lytic phage
(D) Lysogenic phage

3| IIB ORI FIFERACE SN I SNFG FAF 77 (@ 0 € (<
(I [ WO, O IeT 2/ —

(A) SIRCTERN Ple
(B) slzrA=iEHe wiw
(C) =Ebs =re

(D) AT TS
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3. During conjugation —
(A) Cell to cell contact is required
(B) Naked DNA is transferred
(C) Bacteriophage mediates DNA transfer

(D) Only plasmid is transferred

© | FAGACAR AR —
(A) CP-(CFM LA e =27
(B) 7% &. @=. @ FSTe =@
(C) IGRere o=l €. @, @ Za% 27

(D) B&IIq PG ZHEEe 27

4. This substance is present in the cell walls of Gram-Positive bacteria only —
(A) Peptidoglycan
(B) Lipopolysaccharide
(C) Teichoic acid
(D) Endotoxin

8 | Y AN-2I(&T® AFORAF (i 2Bic TAfge —
(A) Co=GiRTTleRT
(B) FRCsAfepTITREY
(C) GEIET Spife
(D) @it
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5. Horizontal gene transfers in prokaryotes are —
(A) Transformation
(B) Transduction
(C) Conjugation
(D) Binary fission

¢ | Seh fom gaeae afeef A @mkebs i @ T —
(A) GETEGH
(B) BTG
(C) oM
(D) fa-fretes
6. Carrageenin is obtained from —
(A) Fucus sp.
(B) Chondrus crispus

(C) Iceland moss

(D) Chara sp.

Y | RIS 2hel T —
(A) Fucus sp.
(B) Chondrus crispus

(C) Iceland moss

(D) Chara sp.
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7. Dwarf male in Oedogonium is formed from —
(A) Auxospore
(B) Zoospore
(C) Androspore
(D) Aplanospore

a1 Oedogonium sp.-4 ¥F 774 o 27 —
(A) SICIT=A (AP
(B) GUAR (CF
(C) =ICGIe™Ne (AT
(D) SHIRCAITAT (AT

8. The chief food reserve of Phaeophyces —
(A) Floridean starch
(B) Laminarin and mannitol

(C) Oil, volutin and chrysolaminarin

(D) Starch

v | Rrewiah-a3 Alws AW 2o —
(A) e 515
(B) mifsifas @ wifase
(C) Tos, Sfrelta ¢ FREEmimfE

(D) ceroAlq
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9. Coenogametes are found in —
(A) Rhizopus sp.
(B) A4scobolus sp.
(C) Agaricus sp.
(D) Saccharomyces sp.
> | PICTsmie oear amw —
(A) Rhizopus sp.
(B) Ascobolus sp.
(C) Agaricus sp.
(D) Saccharomyces sp.

10. Club fungi belongs to —
(A) Zygomycotina
(B) Deuteromycotina
(C) Ascomycotina
(D) Basidiomycotina

So| P FIGIR @l 2 —
(A) SiRCaRCRIG
(B) feTBICaIZCHIB
(C) SHPTCRITRCHITA

(D) TifLexizD
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11. Heterothallism was discovered by —
(A) Alexopoulas
(B) A.F. Blakeslee
(C) E. J. Butler
(D) Ainsworth

55 | RUICRIEPH-97 SfEHws 2eW —
(A) SICECINCANSHTA
(B) Q. @, Fiff
(C) 2. (& TR

(D) SifEpreme

12. The fruit body of Agaricus is made up of —
(A) Primary mycelium
(B) Secondary mycelium
(C) Tertiary mycelium
(D) Diploid mycelium
S| Agaricus-4F TR aifoe 2 —
(A) el MREET A
(B) CTel AT B
(C) =Tl MRCACTAIN Al
(D) fCere @I 2=l
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13. A disease which is more constantly present from year to year in a locality is
known as —

(A) Epidemic
(B) Endemic
(C) Pandemic
(D) Sporadic

Yol (@ @l @i e Siere qwET o7 w9 fefieeir gder [ 5@, o
27 —

(A) GfTefiE
(B) @GR
(C) =hiCeh
(D) CAIfE=

14. The alternate host of Puccinia graminis tritici is —
(A) Triticum vulgare
(B) Berberis vulgaris
(C) Briza minor

(D) Pennisetum typhoides

S8 | Puccinia graminis tritici-a3 (el SNeRMre] Sfen 257 —
(A) Triticum vulgare
(B) Berberis vulgaris
(C) Briza minor

(D) Pennisetum typhoides
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15. IPM is —
(A) Induced Pest Management
(B) Integrated Pest Management
(C) Inhibitory Pest Management

(D) International Pest Management

Se¢| IPM &1 —
(A) Induced Pest Management
(B) Integrated Pest Management
(C) Inhibitory Pest Management

(D) International Pest Management

16. ‘HR’ full form is —
(A) Hydrogen-mediated Reaction
(B) Hypersensitive Reaction
(C) Hyperreactive Reaction
(D) Hyaline Region

Sb | HR-7 35 ol 2ef —
(A) Hydrogen-mediated Reaction
(B) Hypersensitive Reaction
(C) Hyperreactive Reaction
(D) Hyaline Region
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Full Marks : 34 Time : One Hour Thirty Minutes

The figures in the margin indicate full marks.

Group-A
1. Answer any one of the following : 9x1=9
(1) Give an comparative account of the sexual reproduction in Oedogonium
and Chara. Name one agar-agar producing alga. 8+1=9
(i) Describe the chemical structure of cell wall of a Gram-negative bacterium.
What is prophage? 7+2=9
2. Answer any two questions from the following : 4x2=8
(1) Write a short note on TMV. 4
(i) Discuss bacterial growth curve. 4
(i) Write a note on economic importance of algae. 4
(iv) State the use of microbes as biofertilizer and biopesticides. 2+2
Group-B
3. Answer any one of the following : 9x1=9

(1) Mention the diagnostic characters of zygomycotina and Basidiomycotina.
Name one toxin producing fungus. 4+4+1=9

(i) Describe the symptoms, causal organism, disease cycle and control
measures of brown spot of rice. 3+14+34+2=9
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4. Write notes on any two of the following : 4x2=8
(1) Degeneration of sex in fungi.
(i) Fruiting body of Agaricus.
(1) Koch’s postulate.

(iv) Biological control of plant diseases.

WTW

e - 3
S @ I @I AT Te 7S ¢ SXS=d
(i) Oedogonium ¢ Chara-3 (Tq G QAFNETE A T4 | G
S9N SLATRIG! CHRANCER A (574 | b+ =0
(i) @3 2-Teifbe IFERTT @ B IATES I ¢ We |
s 52 9+3=5
3 @ @A g5 A T Wie ¢ 8 x3=b

() B =14 - TMV

(i) TFOREER I @2 Hrag 6@ wie |

(i) CIRICeTR SLAoF @y TCE WY TRA (@14 |

(iv) (ST € (T IHAHT T GRIGME IJ92 (314 |
et - 2

9| (@ @I G5 AT TEF WS SXS=b

() SECIET ¢ FibifvenzEmhe trena @Rl @2 b
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Fefel | O+3+0+3=5
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(i) Agaricus TETMR
(i) -4 7@
(iv) Sfen G@IsR (e ool |
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